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Answer each question about the graph. Then use the inches .... K
Decoder to solve the riddle by filling in the blanks at bars.......... L
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@ Which is the tallest bar on the graph? ar 2
inches ... y
€@ Which is the shortest bar on the graph? 2bars....... P |
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e How tall is bar 17 bars... + ‘;
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@ How tall is bar 87 3inches ... E
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€ Which bar is taller: bar 1 or bar 7? 8bars..... . M
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e Which bar is shorter: bar 2 or bar 3?7 Ches... T
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© Which bar is twice the size of bar 1? barg.... .. N
bar7...... I
@ How many of bar 4 would equal bar 8? ;
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